THS3001 issues, 
Large signal high slew rates get into a secondary non-linearity beyond slew limiting. This is a swept F test, but a super fast large edge is probably going into another mode and then slowly coming out – we used to call this sgueging in CLC. 
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And then here is some more data laying the THS3491 measured data on top of this, 
[image: ]

I did find one swept gain noise comparison to the THS3091, a similar effort to this could be done to the THS3001 – part of the keys here is the lower Rf values for the THS3491. 
[bookmark: _GoBack][image: ]
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THS3001 Frequency Response vs Vout
Vs=+/-15V, G=+5, Rf=619Q, Rg=1540Q, RL=150Q
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THS3491 vs THS3001 Av=5
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THS3491 vs THS3091 output noise

Sweeping the gain from 4V/V to 10V/V and testing for 21Vpp output
(for peak output current) gives these two tables.

THS3091 first — using this eq.

Log Gain to
Matched load

6.02059991
7.95880017
954242509
10.8813609
12.0411998
13.0642503
13.9794001
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Required Rf Required Rq total load

1120
1050
980
910
840
770
700

37333
262.50
196.00
151.67
120.00
96.25

7778

ohms.
9372
92.92
9216
91.39
90.57
89.65
88.61

‘Output noise power terms

Peaklo  Non-inverti Inverting  Resistor
mA terms term terms
112.03125 8.95EA7 187E-16 7.37EAT
113 14E-16 164E-16  B63E-17
113.9285714 2.01E-16 143E-16  9.67E-AT7
114.8901099 27416 1.23E-16  1.05E-16
1159375 358E-16 1.05E-16 1.10E-16
174212121 453E16 8.82E17 1.14E-16
185 56E16 7.9E17 1.15E-16

Eo (nV)

nV/rootHz
18.706.
19.757
21.002
22410
23.952
25603
27343

Eni(nV)

nV/rootHz
4568
395
350
320
299
285
273

Current THS3491 estimates — initially assuming 5000hm Rf at Av=4V/V,
and open loop inverting input Ri = 250hm

Log Gain to
Matched load

6.02059991
7.95880017
954242509
10.8813609
12.0411998
13.0642503
13.9794001
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Required Rf Required Rq total load

500
475
450
425
400
375
350

166.67
118.75
90.00
7083
5714
4688
38.89

ohms
86.96
85.59
8438
8322
82.05
80.84
79.55

Output noise power terms.
Peaklo  Non-inverti Inverting  Resistor

mA terms
12075 9.96E-17
122.6842105 1.56E-16
1244444444 2 24E-16
126.1764706 3.05E-16
127.96875  3.98E-16
129.8888889 5.04E-16
132 6.22E-16

term
9.03E-17
8.15E-17
731E17
6.52E-17
5.78E-17
5.08E-17
442617

terms
32917
3.90E-17
4 44E17
4.89E-17
5.26E-17
5.65E-17
5.75E17

Eo (nV)

nV/rootHz
14.924
16.616
18.481
20472
22555
24.706
26.910

Eni(nV)

nV/rootHz
ERE]
332
3.08
292
282
275
269




